108 EEFAEE-E AR L TR ST 2 €y i Sl

-
m X BE(SF PR

s+ AT S 4 KR - B 3 R BB - B 2 4y 0 5 80 O - SRR SERY
FE - ik — KERISLES > 4520 57 4533 100 47

I. Vocabulary and Phrases
Part I: Choose the BEST answer to complete each sentence.

(B) 1.

(A) 2.

(B) 3.

(D) 4.

(C) 5.

(A) 6.

(D) 7.
(D) 8.

©)o.

(A) 10.

Conservationists are rethinking how to __ nature on a changing planet.

(A) prescribe (B) preserve (C) prevail (D) precede

Having previously questioned the value of military alliance, the preisdent __his full support
for NATO.

(A) pledged (B) plodded (C) plaited (D) pleaded

Scientists hail DNA that can detect if people are likely to have heart attacks.

(A) invention (B) breakthrough (C) hoax (D) malfunction

Unfortunately for those who try to make a living by catching sea cucumbers, the population of
sea cucumbers seems to undergo a cycle of boom and

(A) bloom (B) blur (C) burst (D) bust

Copyright protection, especially to prevent overseas piracy for ____ sale, is an important issue
today.

(A) elicit (B) eligible (C) illicit (D) illegible

Once when East was East and West was West, the __ between was not only geographical but
also moral and historical.

(A) chasm (B) chaos (C) linkage (D) longitude

Strict sanitary procedures helpto _ outbreaks of diseases.

(A) foretell (B) forsake (C) fortify (D) forestall

This may be the most __ sentimental piece of theater you'll see this year.

(A) prudentially (B) compulsorily (C) insidiously (D) unabashedly

Mr. Yanai,an ___ fan of globalization, has made English the working language in his
company and hired many foreigners.

(A) arduous (B) androgen (C) ardent (D) aromatic

can be caused by insufficient oxygen in the brain.

(A) Fainting (B) Cavity (C) Lame (D) Fracture

Part I1: Choose the answer that is the CLOSEST in meaning to the underlined word.
(A) 11. Our public relations team is trying to deal with the aftermath of the scandal.

(A) consequence (B) bureaucratese (C) interpretation (D) surrender

(B) 12. Would you consider hiring a consultant to determine if this project is viable?

(A) attributable (B) workable (C) defensible (D) sensible
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(D) 13. Eight Labor MPS quit the party over Jeremy Korbyn’s poor leadership, which has led to
dithering over Brexit and failed to clamp down on a surge in anti-Semitism among party

activists.
(A) intense desire (B) rapid exodus
(C) expeditious departure (D) indecisive agitation
(C) 14. Ken didn’t want to harm Sally’s good will by asking for another favor.
(A) civilize (B) hypothesize (C) jeopardize (D) optimize

(D) 15. Unbowed and determined to relay the horrors of terrorism to readers at home, she became a

stringer for several newspapers.
(A) pass off (B) pass out (C) pass up (D) pass on

Part 111: Grammar and Structure: Select the word or phrase that BEST completes the

sentence.

(C) 16. The question of Taipei’s aging houses  again after a magnitude 6.1 earthquake struck

Hualien at 13.01 P.M. on April 18.

(A) raised (B) rose (C) was raised (D) was risen
(A)17. The radio waves have offered the means __ the universe has been determined 20 billion years

of age.

(A) by which (B) as those (C) for what (D) all that
(C)18. ___ since graduation from high school, Joe had to find jobs to sustain himself.

(A) Having self-supported (B) Self-supported

(C) Self-supporting (D) Being self-supported
(A)19. _ Istudied medicine, | ___ adoctor now.

(A) Had; would be (B) If; would be

(C) Had; would have been (D) If; would have been

(B) 20. Which of the following is grammatically accurate?
(A) Declarations of racial antipathy from ethnic minorities will not be tolerated.
(B) Drug trafficking is a matter of considerable concern for the entire international community.
(C) Upon seeing bullying can be very hurtful to adolescents.
(D) It can be seen why analytic abilities to be important for linguistic studies.
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I1. Cloze: Choose the most appropriate word for each of the blank in the following passages.

(A)

Harold Ridley was an English ophthalmologist. He developeda _ 21  way of helping people
with poor eyesight as a result of cataracts. During World War 11, Ridley worked with RAF pilots with
eye injuries. He noticed that their eyes did not become __ 22  when they had eye injuries caused
by bits of Perspex from the windows of their planes. As a result of this observation, he decided to

23 plastic lenses in the eyes of people with cataracts. Surgeons had earlier tried replacing the
lenses in the eye with a glass one, butthe _ 24  always failed because the body rejected the glass
lens. Ridley's operations with plastic lenses were successful. However, the medical community _25
Ridley's discoveries and it took many years for the technique to be accepted. Today over 200 million

people have their sight because of Harold Ridley.

(A) 21.(A) revolutionary (B) complimentary (C) supplementary (D) momentary
(D) 22.(A) infect (B) infecting (C) infection (D) infected
(A) 23.(A) implant (B) inflict (C) input (D) instill
(C) 24.(A) recreations (B) prescriptions (C) operations (D) emplacements
(B) 25.(A) conformed (B) opposed (C) affirmed (D) undertook

(B)

When Juul launched in the UK this July, it met with anticipation and trepidation _ 26
Anticipation because Juul has captured 71 percent of the American e-cigarette market in three short
years. However, trepidation because it has also _ 27 a vast teenage fanbase, who think it’s cool to
juul and are busy vaping like mad all over social media. Under #juul and #juulnation, you will see
teenagers smoking multiple Juuls at once, juuling while eating or flirting, or tucking their Juuls into
their cleavage. It's become part of a culture of daffy and dumb jokes, and it’s been _ 28  the
iPhone of e-cigarette.

So concerned is the US Food and Drug Administration (FDA) that last week it gave Juul Labs
and four other companies three months to prove they can keep their products out of the hands of
minors. If they cannot, they will haveto _ 29  them from the market. In addition, Juul has faced a
number of lawsuits alleging that it has exacerbated nicotine addiction in some cases, and _ 30
marketed its product as safe.

(C) 26.(A) in a similar way (B) to some extent (C) inequal measure (D) to our surprise
(B) 27.(A) contrived (B) amassed (C) aggravated (D) conjured

(D) 28.(A) aligned (B) reimbursed (C) misconstrued (D) dubbed

(B) 29.(A) retrieve (B) remove (C) overlook (D) ventilate

(A) 30.(A) deceptively (B) deliberately (C) delicately (D) demonstrably
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I11. Reading Comprehension: Read the following passages and choose the most appropriate

answer for each question.
(A)

A paper published in Nature Climate Change indicated that the effects of climate change
across a broad spectrum of problems, including heat waves, wildfires, sea level rise, hurricanes,
flooding, drought and shortages of clean water. Such problems are already coming in combination.
Florida, for example, had recently experienced extreme drought, record high temperatures and
wildfires — and Hurricane Michael, the powerful Category 4 storm that slammed into the Panhandle
this summer. Similarly, California is suffering through the worst wildfires the state has ever seen, as
well as drought, extreme heat waves and degraded air quality that threatens the health of residents.

In 2017, US withdrew from Paris Agreement. Despite the White House's later assessment
showing climate change could significantly reduce GDP by 10% by 2100, President Trump remains
incredulous about global warming. The UN unveiled its own report that says signatories to the Paris
Agreement are doing nowhere near enough to meet the target of keeping warming below 2°C relative
to pre-industrial times. Other reports also warned that carbon dioxide in the atmosphere had reached
405 parts per million, the highest in three million to five million years.

(B) 31. The author’s tone in this passage can best be described as .

(A) intimtated (B) apprenhensive (C) contemptuous (D) aggrieved
(A) 32. Which of the following words is the closest in meaning to the word “incredulous” in the 2nd
paragraph?
(A) dubious (B) gullible (C) apathetic (D) unperturbed

(D) 33. Which of the following questions can NOT be answered in this passage?
(A) How can there be global warming when there is a snowstorm?
(B) What's wrong with a few degrees higher?
(C) Will the increase of carbon emissions hurt the economy?
(D) How exactly has the Earth's climate warmed over the past century?
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(B)

In the past two years, scores of scientific studies have suggested that trillions of murmuring,
droning, susurrating honeybees, butterflies, caddisflies, damselflies and beetles are dying off. Most
of the studies describe declines of 50% and more in different measures of insect health over decades.
The immediate reaction is consternation. Because insects enable plants to reproduce, through
pollination, and are food for other animals, a collapse in their numbers would be catastrophic. “The
insect apocalypse is here,” trumpeted the New York Times last year.

Yet only a handful of databases record the abundance of insects over a long time. There are no
studies at all of wild insect numbers in most of the world, and reliable data are too scarce to declare a
global emergency. Where the evidence does show a collapse—in Europe and America—agricultural
and rural ecosystems are holding up. Plants still grow, attracting pollinators and reproducing. Farm
yields also remain high. As some insect species die out, others seem to be moving into the niches
they have left, kee

People rely on healthy ecosystems for everything from nutrient cycling to the local weather,
and the more species make up an ecosystem, the more stable it is likely to be. The scale of the
observed decline raises doubts about how long ecosystems can remain resilient. An experiment in
which researchers gradually plucked out insect pollinators from fields found that plant diversity held
up well until about 90% of insects had been removed. Then it collapsed. As one character in a novel

by Ernest Hemingway says, bankruptcy came in two ways: “gradually, then suddenly.”

(A) 34. Which of the following words can best describe most of the people’s instantaneous reaction to
the drastic decrement of insect population?
(A) fright (B) bewilderment (C) agitation (D) placidness
(B) 35. Which of the following phrases can best interpret the contextual meaning of the word
“apocalypse” in the 1st paragraph?
(A) A prophetic revelation
(B) A very serious event resulting in great destruction and change
(C) The complete final destruction of the world
(D) None of the above
(C) 36. In Europe and America, what happens when some insect species become extinct?
(A) The insect decrease wreaks significant economic damage.
(B) With less biodiversity, the ecosystem continues with great difficulty.
(C) The environmental health remains intact.
(D) The sudden collapse of the ecosystem is expected.

3-5
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©)

The fantasies inspired by TB in the last century, by cancer now, are responses to a disease
thought to be intractable and capricious—that is, a disease not understood—in an era in which
medicine’s central premise is that all diseases can be cured. Such a disease is, by definition,
mysterious. For as long as its cause was not understood and the ministrations of doctors remained so
ineffective, TB was thought to be an insidious, implacable theft of a life. Now it is cancer’s turn to be
the disease that doesn’t knock before it enters, cancer fills the role of an illness experienced as a
ruthless secret invasion—a role it will keep until, one day, its etiology becomes as clear and its
treatment as effective as those of TB have become.

Although the way in which disease mystifies is set against a backdrop of new expectations, the
disease itself (once TB, cancer today) arouses thoroughly old-fashioned kinds of dread. Any disease
that is treated as a mystery and acutely enough feared will be felt to be morally, if not literally,
contagious. Thus, a surprisingly large number of people with cancer find themselves being shunned
by relatives and friends and are the object of practices of decontamination by members of their
household, as if cancer, like TB, were an infectious disease.

Cancer patients are lied to, not just because the disease is (or is thought to be) a death sentence,
but because it is felt to be obscene—in the original meaning of that word: ill-omened, abominable,
repugnant to the senses. Cardiac disease implies a weakness, trouble, failure that is mechanical; there
is no disgrace, nothing of the taboo that once surrounded peoples afflicted with TB and still
surrounds those who have cancer. The metaphors attached to TB and to cancer imply living processes
of a particularly resonant and horrid kind.

(B) 37. Why does the author compares cancer with TB?
(A) Because physicians had a great discovery about their formation.
(B) Because both were considered incurable.
(C) Because both are contagious.
(D) Because both are infectious.
(D) 38. Which of the following word is closest to the original meaning of cancer?
(A) impecunious (B) paradoxical (C) enchanting (D) detestable
(C)39. According to the passage, which of the following is true?
(A) Affliction with TB is concealed as a secret.
(B) In the past, patients afflicted with TB felt unashamed.
(C) TB and cancer used to be regarded as a taboo.
(D) TB and cancer are both infectious diseases.

3-6
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(C) 40. Which of the following could be the controlling idea of this passage?
(A) Medical knowledge is not as advanced as we have assumed.
(B) People should show sympathy for patients who suffer from cancer.
(C) TB and cancer used to associate with negative metaphors because of ignorance.
(D) In the past, doctors should have been honest to their patients.

IVV. Composition

Most doctors prefer to practice medicine in urban areas, but patients in rural areas need and deserve
good professional medicine as much as those in urban areas. Please write an essay around 200-250
words to discuss the gap, in economic and cultural terms, between city and country in the practice of
medicine, specifically, Chinese medicine. How do you think we should minimize the gap between
city and country in the practice of Chinese medicine? That is, how should we make the practice of
Chinese medicine between city and country more equitable?
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1. Conservationists are rethinking how to__nature on a changing planet.
(A) prescribe = % % (= ) p.253 (B) preserve % 4 % (= )w p.253
(C) prevail z % % (- )» p.13: 12 3% (D) precede x 4 % (= )» p.250

4. Unfortunately for those who try to make a living by catching sea cucumbers, the

population of sea cucumbers seems to undergo a cycle of boom and . CHEE)
(A) bloom z 4 % (= )w p.42 (B) blur & % (= )w p.42
(C) burst = 4 % (= )= p.46 (D) bust
5. Copyright protection, especially to prevent overseas piracy for__sale, is an important
issue today.
(A) elicit & % (= )w p.117 (B) eligible = % % (= )w p.117
(C) illicit # = % (- )w = ;% p125 % 2 (D) illegible
10. can be caused by insufficient oxygen in the brain.
(A) Fainting 3 % % (= ) p.139 (B) Cavity
(C) Lame (D) Fracture # 4 % (= ) p.148

11. Our public relations team is trying to deal with the aftermath of the scandal.
(A) consequence x 4 % (= )w p.73 (B) bureaucratese
(C) interpretation % % % (= )w p.186 (D) surrender 3 % % (= )+ p.326
12. Would you consider hiring a consultant to determine if this project is viable?
(A) attributable = 4 % (= )= p.35 (B) workable([gf] FF2E)
(C) defensible % 4 % (= )® p.92 (D) sensible # 4 % (= ) p.297
14. Ken didn’t want to harm Sally’s good will by asking for another favor.
(A) civilize 3 % % (= )v p.55 (B) hypothesize
(C) jeopardize % 4 % (= )» p.192 (D) optimize z 4 % (= )= p.231(474 )
15. Unbowed and determined to relay (& < % (- )= < ;¢ p.111) the horrors of terrorism to
readers at home, he became a stringer for several newspapers.
(A) pass off (B) pass out (C) pass up (D) pass on

17. The radio waves have offered the means the universe has heen determined 20 billion
years of age.

(A) by which (B) as those (C) for what (D) all that
B T R v (-)wr 2% 5 F RGBS 2 AR -
19.  Istudied medicine, I adoctor now.
(A) Had; would be (B) If; would be
(C) Had; would have been (D) If; would have been

BB R B(-)w e 2A TEREF L L IBTHE BT o
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21. (A) revolutionary # 4 % (= )» p.287  (B) complimentary ¥ 3 p.64
(C) supplementary = 4 % (= )» p.324 (D) momentary

22. %4 % (2)w p.A77 infect (LA ¢

(A) infect (B) infecting (C) infection (D) infected

23. (A)implant 3 % % (= )» p.172 (B) inflict
(C) input (D) instill % 4 % (= )= p.183

24. (A) recreations z 4 % (= )w p.272 (B) prescriptions % 4 % (= )= p.253
(C) operations % 4 % (= )= p.230 (D) emplacements

25. (A) conformed = 4 % (= )» p.145 (B) opposed = 4 % (= )® p.231
(C) affirmed = 4 % (- )» p.2:13 4% (D) undertook % # % (= )® p.350
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I. Vocabulary and Phrases

1. (87 #&R)
BT AL ERTA T IR A+ R LT hE P RFp R
A) RE> B) %7 C) i % D) #---2 %

2. (*EaR)

ABFRAITHP PP 6 ARFTR2AHEL LT E Q0o
A) 7 3 ¥ B) mEEiz  C) %MF D) nuko Fuw
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3. (B 7 A2R)
P8 7T DNA chRBL > it SRl A S 3 7 i e kv 50 -
A) #p B) 8 C) kA D) pax¥
4. (* BALR)
H7RE LA S A A A ] G Rl T S - R R e BRIk -
A) R B) #--fiks  C) R F-#rT D) %pzBA
5. (% &42R)
FR O FIEfEmEd - BEL IR FR A LA FRLET o
A) 51t F B) e C) 22 D) s eno spiueh

6. (% HAR)
—LFEEAEA TR > AT A R s BAEHE e
é‘f”)o
A) # v o A B) = C) =i @ ix D) &’

7. (FBAR)

Bote infir2 A2 5 G et g 1A 5 R o
A) FE= B) #% - L% C) 3 it D) % &t
8. (xE&4a&R)
BRFALL E RN P RAH
A) FEiEe B) s C) &
9. (x&4a&R)
Yanai £ 4 » 2zt F s ¢ KRB FZ L LBSEFZ OB L SR A o
A) ¥4 FEd B) TRFESF C) BB D) 349
10. (% ¥ 2R)
BET ALY §§ 7 TR
A) BB B) vz k7 C) e R D) Fi7 0 474
11, (B8P @ * & 42 > 7 57 X B R E)
A B B PR N F AR R (S ARt o
A) TH %% B) FRiFEr  C) 2@ o¥F D) &%
12, (B2p ‘ * B48Rk > EH 37 ALR)
e RP— AR KL LETIEE Y
A) Pl B) w#T g VR Eg C) Fh s D) Pl
13. (BEp < HARR - EW 3¢ LA R L)
N1k B (B E_MPs) %] Jeremy Korbyn 4 7 i@ 198 > )L ¢ i3
WER-FT AR P B2 ERAFCE I 0 F L A Ko
A) 7 gg5%  B) P AR C) Richi® D) # % ¥

Rho s 4R P iE o
digiE D) AL EB 0 m LA
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14, (3P ~EHE T 3 ¥ £R)
ankﬁﬁiimﬁ%aggswymgio
A zpir B)Bx C)i#-pE% D) siEi
15. (BEP * ~ B4R > EH 1 3¢ ALR)
P Rya Rt BEER L R TR R Féi"’&azﬁp&;zﬁz SEZSEE B
A) ij 4 == B) Apeo R C)ﬁﬂ»ﬁ# D) @if 4 &
16. w2 18 p T2 1101 W61l e B A2 (8 S 5 RE PP AR TARK
a o
LREYH Forise Zraise * 2o o FHAEFAAGTEHE T o
raise/raised/raised (V) # = > B4z ~ & IR~ ek 4
rise/rose/risen (v) = 4= > ik 5 3 4
17 BRT L BT 22 > P E 3 g ehiE & 5200 Rk o
PLREY 2 xR RN L3084 (R ends fe o by which ﬁ*n-\bythe means
18. pAAF P 2 XU P2 Joe EHairmFdzpe o
PAET v e > BT A B (AN C) AR E (B D)uE R S hRE A g
BENC)EZRZANA)Z BT -
19, 4%k A F 43 ¥ LN ,1%.%—5'; Z,
PR 22 DB ZOPFEL  LFdE g ke .
20. TR v R L FEEGE T
FEEE 22 CANC D A RBITEACT
A) Declarations of racial antipathy against/towards/to ethnic minorities will not be
tolerated.
C) Seeing bullying can be very hurtful to adolescents.
D) It can be seen why analytic abilities are important for linguistic studies.

I1. Cloze:

Harold Ridley &_i# # BIp 44 F 7 » 4 B af - B2 ffen™ 2 Ho0ild 2 26 e b
0OpHLem A e ¥ S A W Ridley ¢ pp-£  chi W2 R (Royal Air
Force)shifd 7 f — 421 1% > B A X 3§ G Ad &4 T © o3 87033 (Perspex)#7i§ pF >
B f R PR A SR BOSE LR TR § o0 P B A R
BhW o FEHNSERUAFLEL LR T M AR LS L R
Ridley eh= i » 2 i F F i & # Ridley 03 sk > 45 5 & BB ] Ade = » 4
T AZ#EA A F1 5 Harold Ridley & #3 R4 o

A) £ e B) 34 C) # e D) ®ifin
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A) rEgigt 0 B) FlEBAR  C) Mk ezA D) £ A ETen
27 4+ LAERE 3
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OETENNEL RN BRSO S
20, ¥ F¢ 4 LEZ

A) few o AR B) #% C) W4k &ik D) Rk ~3F
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C) i » ks s D) fFik ¥V

I11. Reading Comprehension
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3. ¥+ ie L LH 3
32 ¥ LEzZ
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IVV. Composition
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